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1. La probabilité des événements p. 380 - 382.

52
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Quelle est ta change
de tirer un 5 dehors
du sac? Discutes
avec ton groupe.
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1 sur 9 chances ou 1 pour avoir n'importe quel
9
numero.
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Quelle est ta
chance de tirer un
jeton rouge
dehors du sac?
Un jeton bleu?
Un jeton jaune?

n jeton violet?
giscutes avec ton

~groupe.
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Rouge: 5 sur 7 chances ou 5
7

Bleu: 1 sur 7 chances ou 1
7

Jaune: 1 sur 7 chances ou 1
7
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4.

in the spinner.Alex gets a poir

n an even number. Rebecca
on an uneven number. Each
20 times. The person with th
has the most chance to win?

..................... Plus probable

ert + 1 rouge d) 2 verts b) 2 de coulet

chance a gagner car elle a 3
agner. (Impair: 1, 3 et 5)

sur S ou 2 de gagner
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eu de jetter une  Un autre jeu de

1ece de monnaie roulette
3


http://www.shodor.org/interactivate/activities/adjustablespinner/
http://www.shodor.org/interactivate/activities/coin/
http://www.shodor.org/interactivate/activities/expprobability/
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. 383 - 385.

omme paire

March 22, 2012

10



ch. 1.notebook

X |1 2 3 | 4 5 6
1 | 2 3 4 5 6
> 21468 10|12
131619 [12 [15 |18
T 4 [ 8 [12 [16 [20 |24
5 [ 5 |10 |15 |20 |25 [30
16 [12 [18 |24 |30 [36

Selon le tableau 1l y a 36 résultats possibles.

27 resultats sont des produits pairs
9 résultats sont des produits impairs

March 22, 2012
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Probabilité d'obtenir un produit pair; 27
36

Probabilité d'obtenir un produit impair: 9
36

Jeu de dés
.
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http://www.shodor.org/interactivate/activities/dicetable/
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S ex. 1 et 2.
3 4 5 6
4 5 6 7
5 6 7 8
6 7 8 9
7 8 9 |10
8 9 |10 11
O (10 |11 |12
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ctions p. 386 - 388.

a4

ue la fleche s arréte sur le bleu est de
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ourquoi? Discutes
vec ton groupe.
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Devoirs: p. 387 et 388 ex. 1 et 2

1. A paper bag contains 2 green tokens, 4 yellow
tokens and 1 blue token. Lise picks a token without
looking.

What 1s the probability that her token will be green?
What 1s the probability that her token will be yellow?
What is the probability that her token will be blue?
Use fractions in your answers.

2. Dave flips a coin 20 times. He gets heads 12 times.
a) How many times did he get tails?

b) What 1s the fraction representing the number of
flips that ended up with heads?

¢) What 1s the fraction representing the number of
flips that ended up with tails?

d) Did you expect such results? Explain your answer.
¢) Dave flips the coin 100 times. What kind of results
are you expecting? Explain your answer.
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